Pythagorean Theorem
The Pythagorean Theorem explains the relationship among the lengths of the sides of a right Triangle. The area of the square on the hypotenuse is equal to the sum of the areas of the squares on the other two sides.

Activity

The materials needed to conduct this activity are:

· Grid paper

· Scissors

· Rulers

· Tape

· Blank paper

Steps

1. On the white grid paper, draw a line segment three units in length.

2. At a right angle to one end of the three unit line, draw a line four units in length.

3. Complete the triangle by drawing a line connecting the two open ends.

4. Cut out the triangle and tape it to the centre of the sheet of blank paper.

5. Using coloured grid paper (the same size as the white grid paper) cut out three squares to match the length of each side of the triangle.

6. Lay each square along its corresponding side of the triangle and tape it into position.

7. Using the white grid paper, cut out one more of each of the two smaller squares.

8. Cut or manipulate these smaller squares so that they fit on the larger square.

9. IDENTIFY the relationship that exists among the areas of three squares.

The hypotenuse is the longest side of a right-angled triangle and it is located opposite to the right angle.

The students should now be able to write the equation that shows the relationship between the hypotenuse and the other two sides of the triangle.

                                              




(hyp)2 = (side a)2 + (side b)2
